Coplus goldsit

CHEVIC MAER MAKDC CO0A OFFICEFURNITURE

QUATRO 100 T / QUATRO 000 T

PARTS INSIDE THE BOX
YACTU BbTPE B KYTUATA

@ i i j OPTIONAL (if 000 T)
1X 1X 2X

1X

== - N 5

1X 2X 5X 2X 1X
Mé6x12 Méx25 M6x35 Mé6x40

2X 4X 4X 6X



STEP BY STEP INSTALLATION STAGES
CTBINKA NO CTbIKA ETAMNN HA MOHTAXK

M&X40

M6X40

M6X40i ﬁ M6X40

-

-

| |

12 Msxslasx:;s? M6X35
J ii' ! gM6EX35




r—=="

I

| s
| 5 |
I







